| N of simulated tracks vs dxy | N of associated tracks (simToReco) vs dxy |

v L —————A——_,_,__ T (%]
3 g
S =
e =
3 —
51 E
4 0
(&) c
® L S
= o
10° 04
10
1k 5 RS E_ s 3
= ¥ \ m | AR
9 J..U;)_'_‘ H “ , JH‘ lil ” : 9 J..UU_ !llll!||||!||||
e N : e L
! ”H“ H ‘ HHHHIM 1l R |
090 -15 -10 -b 1015 30 098 15"=10" 5 0 B 10 1530
TP dxy (cm) TP dxy (cm)

—=— DQM_noFii_stepZ_tibar-phasel-newgeom

- —e— DQM_noCPE_step2_ttbar-phasel-newgeom

N of simulated track . DQM cpeGenericTime_step2_ttbar-phasel-newgeom
— DQM cpeTempIatedTlme step2_ttbar-phasel- newgeom

wn [2)
@ o
o =
= o}
g @
2 E
" ()]
(&] [
9 (@]
— o
[nd
o o
= =
' o
0936 ~=20 =10 0 10 20 30 083520 <10 -0 10 20 30

TP dz (cm) TP dz (cm)



	Contents
	Page 1


